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Q.No: 1 Choose the incorrect match

2427553

Terd e g4

Green Revolution - 1970-1975
A

gia wifd - 1970-1975

American Revolution - 1775-1783
B

3Rt wifd - 1775-1783

French Revolution - 1789-1799
C

iR wifd - 1789-1799

Serbian Revolution - 1804-1835
D

affars wift - 1804-1835

Correct Ans : A

Subject : General Knowledge

Q.No: 2 Select the wrong statement regarding United Nations(UN)

2427576
T MY (JT) F Iy F T ST BT T97 R
UN currently has 193 members
A
TYF Y () P FeY H Ted HUT BT T DY
The security council has 5 permanent members
B
e oRwE & 5 =l Tew O §
Economic and Social Council is one of the main organs of UN
C
e SR AT uRtve §9H F F S T AT §
International Monetary fund is one of the main organs of UN
D

SIRIgT T B g AP T A AYTH §
Correct Ans : D

Subject : General Knowledge

Q.No: 3 Reflecting the rise in economic momentum, India's current account balance showed a deficit of how per cent of GDP ($8.1 billion) in the fourth quarter ended March 2021 (Q4F

2428970
St T  gfs &1 g2 §Y, YRa & 91 W1 B A9 AR A A 2021 (Q4FY21) Bt Fud el fommt & waer wRq 3G ($8.1 fferery & e nfowra @t wrer feamare
2%
A
2%
3%
B
3%
1%
c
1%

D 5%
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5%
Correct Ans : C

Subject : General Knowledge

Q.No: 4 Sankranti is called ‘Khichiri’ in which of the following Indian States?

2431025
Frofiea & 9 frw wRda Toa § wwifa &1 R 1 o 82
Uttar Pradesh
A
IR weq
Meghalaya
B
e
Rajasthan
C
REIE]
Goa
D
et

Correct Ans : A

Subject : General Knowledge

Q.No: 5  What is the rank of India in terms of greenhouse gas emissions?

2434486
U T09 Tl % I F A T URA TS ARIF S ?
Third
A
e
First
B
gl
Second
C
«
Fifth
D
-

Correct Ans : A

Subject : General Knowledge

Q.No: 6  “India is won by the sword and it will be kept in British possession by the strength of the sword”. Who made this statement?

2435715
HRY TEAR & Siar 741 3 3R 59 a0aR & aa WSSl & wed § 3@ S| 98 fruet $ud 82
Lord Mayo
A
e A
Lord Ripon
B
S o
Lord Minto
¢
e fifer
Lord Elgin
D
s ufer

Correct Ans : D

Subject : General Knowledge
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Q.No: 7 Which river originates from Amarkantak?

2435826
R P W TR BT SGA TN S ?
Damodar
A
ELicy
Mahanadi
B
HETel
Narmada
C
e
Tapti
D
et

Correct Ans : C

Subject : General Knowledge

Q.No: 8  Vinesh Phogat and Anshu Malik are associated with which sport event?

2437103
farrr wire SR iy A (o Bt oM @ 93 87
Weight Lifting
A
RIS
Athletics
B
RUE ECh
Archery
C
diersht
Wrestling
D
2l

Correct Ans : D

Subject : General Knowledge

Q.No: 9 Natyanjali is related to which of the following sects?

2440804
St 1 Gy Fafafed 3§ § few duem & 82
Shaiv
A
¥
Vaishnav
B
dqurg
Lokayat
C
R
Angami
D
St

Correct Ans : A

Subject : General Knowledge

Q.No: 10 Which country won the latest ATP Cup tennis tournament?
2440809

T & § it Sy 2w gAffe fw I 3 Siare
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A Switzerland
foewRds
Russia

B
il
Italy

C
Tt
France

D
B

Correct Ans : B

Subject : General Knowledge

Q.No: 11 Mr. Shivraj Singh Chauhan in November 2021 laid foundation stones for setting up solar power plants in three places. Which of the following is NOT one of the place?

2440986
off Rrarrer g demM A TR 2021 & diF TUFl IR GR ol T4 RAIfd F7 31 neRiRren @t Fofifea § @ o 1 =i S 3 e 18 82
Shajapur
A
RULIEN
Rewa
B
et
Agar
C
R
Neemuch
D
RGeS

Correct Ans : B

Subject : General Knowledge

Q.No: 12 During which year the Chhatarpur district came into existence?

2441112

BRE forer v af w1 o F smm?

1956
A

1956

1957
B

1957

1958
c

1958

1959
D

1959

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Which cave of Udayagiri (Udaigiri) is famous for the colossal representation of Varaha avatar?

2441169
I IR & B R 6T /g sfaar F Jma gl F o vits &2
2

A
2
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3

4
C

4
D

5

Correct Ans : D

Subject : General Knowledge

Q.No: 14 Keshavrao Krishnarao Datey was a practitioner in the field of -

2441286
PYRE FURM a0 [5ad &4 & onard 42
Cardiology
A
EQIRREE
General Surgery
B
R e fafeer
Endocrinology
C
SfdeaST
Neurology
D
-

Correct Ans : A

Subject : General Knowledge

Q.No: 15 Which of the following sanctuaries is spread on the hills of Vindhya range from Narmada to the north in the forest areas of Madhya Pradesh?

2441561
9 # ¥ $H T N ARVT 7Y U F a7 41 | Arfer 9 I A fea It &t weifedl w e gen g2
Singhori
A
Rt
Chambal
B
EEGl
Sardarpur
C
WERR
Gangu
D
T,

Correct Ans : A

Subject : General Knowledge

Q.No: 16 What is the literacy-rate in the Madhya Pradesh tribal population (as per Census 2011)?

2441621
Y] YT P ST TS & TRl & 97 § (SFRTUAT 2011 & 3FUR)?
58.95%

A
58.95%
50.55%

B
50.55%

C 52.24%

GET IT ON

Google Play
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52.24%

65.73%

65.73%
Correct Ans : B

Subject : General Knowledge

Q.No: 17 Who among the following became the first Advocate General of MP High Court?

2441696
Frofafad & 9 SF A 1SR I mTed F Ugd Teiadd a2
M. Adhikari
A
T, PR
A. P. Sen
B
T}
N. C. Nihalani
C
. 9. feart
S. L. Garg
D
9. . W

Correct Ans : A

Subject : General Knowledge

Q.No: 18 The M.P. Adhivakta Kalyan Nidhi Adhiniyam was passed in which of the following years?
2441728

. 9. siftaa seamr AR sifdfgn Fafiea & § g of § wika fear mr are

1971
A

1971

1978
B

1978

1982
C

1982

1990
D

1990

Correct Ans : C

Subject : General Knowledge

Q.No: 19 Who among the following is the longest serving Chief Minister of Madhya Pradesh?

2441754
Fafafad ¥ § 91 9o Yo & Ted 9 999 96 J91 7 91 JerdR 87
Digvijaya Singh
A
o Rig
Uma Bharti
B
FHT URE
Shivraj Singh Chauhan
C
et g <rer
Ravishankar Shukla
D

faRiER gaa

Correct Ans : C
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Subject : General Knowledge

Q.No: 20 Which saree is traditionally made from silk and is mainly produced in Khargone?

2441807
P o T IRuRE U F W F T @ ¥ iR T w9 & e § S ol 87
Chanderi
A
EEs]
Maheshwari
B
LI
Bagh
C
Eill
Zardozi
D
eIt

Correct Ans : B

Subject : General Knowledge

Q.No: 21 Which of the following includes the daily routine and the type of food?

2423018
Fraferea # § e e et iR viisH 31 TR i 82
Routine
A
Frafira i
Lifestyle
B
St At
Schedule
C
areft
Time Table
° g Rt

Correct Ans : B

Subject : General Science

Q.No: 22 World Health Day is celebrated on-

2423023
fay wred Raw & WA S -
7% February
A
7 adt
7% March
B
7 9
7% April
c
7 o
74 May
D
7%

Correct Ans : C

Subject : General Science

GET IT ON

Google Play
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Q.NO: 23 WUWIIS dsyHuiviie is d

2423055
sARigHE R
Mental disease
A
AR T
Contagious disease
B
BB FARY
Hereditary disease
C
ST 3|
Infectious disease
D

HHTHS T
Correct Ans : C

Subject : General Science

Q.No: 24  Who stated the law of definite proportions?

2425757
T srgura @1 Fram e i
John Dalton
A
Si STee
Proust
B
e
Newton
C
e
Bohr
D
Elgd

Correct Ans : B

Subject : General Science

Q.No: 25 Choose the odd member out:

2428738
famm wawr B E:
salamanders
A
JaHs
toads
B
s
frogs
C
Hew
earthworm
D

Fgan
Correct Ans : D

Subject : General Science

Q.No: 26 Match the following:
2428750

1 Porifera a Softbodied

2 Nemathelminths b Tubelike body with smallpores

w

Molluscs c Round sessile body
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Frafafea 1 fyemd:

1 RERT a T AR

2 AAATCHTH b BIE TR & AT 7T AT AR
AT c it draTe ars

w

1-a, 2-b, 3-c

1-a, 2-b, 3-c

1-b, 2-¢, 3-a

1-b, 2-¢, 3-a

1-c, 2-b, 3-a

1-c, 2-b, 3-a
1-a, 2-c, 3-b

1-a, 2-¢, 3-b
Correct Ans : B

Subject : General Science

Q.No: 27 Check the odd one out:

2428787
fawm 31 sifg @3
Mastigophora
A
ARETHR
flagella absent
B
PRMT SR
flagella present
C
HHST SR
euglena, Trypanosoma, giardia
D

T, e, RrenfEar
Correct Ans : B

Subject : General Science

Q.No: 28 Check the odd one out:

2428791
fawm 31 sifg &
saprobionts
A
i
mycelia is composed of several thread-like structure, termed hyphae.
B
AR @ o SR TR @ 0 R, Rl SR @ o 81
smut
C
FIER (¥F)
Hydra
D
HESIE GRS

Correct Ans : D

Subject : General Science

Q.No: 29 Which one of the following does not cause water pollution?
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2429039
i & 3 SF 9 Uguul BT SR A 82
Fertilisers

A
IS
Rapid urbanisation

B
Il & Tt
Oil spills

C
9 1 faa
Notch sanitation

D

g @
Correct Ans : D

Subject : General Science

Q.No: 30 is a unidirectional path of eating and getting eaten.
2429236

T IR & gRT WA 9 &1 TP =g Anf 31

Food web
A

BT

Food group
B

PRV

Food system
C

eyt

Food chain
D

T gt

Correct Ans : D

Subject : General Science

Q.No: 31 Phylogeny is the study of:

2429860
Y T BT 4T B
development of an individual
A
T S P e
recreation
B
faer
evolution of species
(o)
Tt 1 T
biological studies
D

S e

Correct Ans : C

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “"Reason”. You have to examine these two statements carefully and s
2429873 question from the given options.

Assertion : (A) Salamander, bufo and hyla belongs to the amphibians.

Reason: (R) They have three chambered heart and no scales are present over their skin.

e Fufafad uy & < o3 § R 3t o sfimys ik g 1 "SR & T H A9 591 T 1 YS! 37 Gl Sl P WIaUFIgdS g St § 3R T e fiwedt § & vy 1 98 I


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

SHBYA: () HedHSR, gl SR glgadl SHYURI @ Sdid Slidl €1
PR (R) I g&d & o1 Pef B ¢ 3R I @l R P Yedh Aofg 7181 8 &

(R) is true but (A) is false.

A
(R) T & AT (A) T 31
(A) is true but (R) is false
B
(A) ¥ & A (R) Tl §
(A) is false.
C
(A) Te@ 2
(R) is the correct reason for (A)
D

(R) (A) & for ot BroT &
Correct Ans : D

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430050 question from the given options.

Assertion (A): Sometimes, yoghurt becomes bitter and froths up.

Reason(R): If the formation of lactic acid is more, then the yoghurt might taste bitter and even get spoiled.

A FafEd vy § @ ouF § REd 3 0F ) ey IR R B R & T § daa 5 T 31 S19ET 57 G HyAl t graurigdE Sig S § ofR e e fwedt § 9wy o1 98 3w
A (A) : Foft-Tl & Fgar & T & SR IAH FAT S A B

FHROT (R) : Ife Afded 3 o1 i sifds gar 8, o <dt & wWig Hea1 gl gadl § SR T 2ff g g 21
Both A and R are true

A

A SRRINTA T

Both A and R are false
B

A IR R I o §

A is true but R is false.
C

A 2 A R SE R

A is false but R is true.
D

A 3T § ARFT R TT RN
Correct Ans : A

Subject : General Science

Q.No: 34 Plastic disposal is the principle.
2430144
WS FueH et 3l
5R
A
5 3R
7R
B
7 3R
9R
c
9 3R
4R
D
4 3R

Correct Ans : A

Subject : General Science

Q.No: 35 A material that gets decomposed through natural processes and action by bacteria is called
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2430145
T gery S wipfae ufpareh ok R gRT S S mem A Ruea AR, Pwamr sl
Biodegradable

A
TSI
Non-Biodegradable

B
-9 P
Bakelite

C
SPare
Melamine

D
e

Correct Ans : A

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422598
3,5,9, 15,23, 35,45
sjEal | TTed H T Ul TIE?
3,5,9,15,23,35,45
45

A
45
9

B
9
15

C
15
35

D
35

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424553
ST Teg BT TG BHfAY
Allaudin Khilji
A
JTfet faerht
Qutub-ud-din-aibak
B
FEe-9¢-3 T
Iltutmish
C
e
Razia
° <

Correct Ans : A

Subject : General Reasoning

T O S S S A S SO P SO S S O SO B DA PR U TSI SIS TR PN
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Q.NO: 38 SFISLL UIT SLLEITLIUSLEL LHAL 1 1SIALEU LW LIS UHTU ISLETLIUSLEL 1T LIS 3alE Way ad LS STLUHU ISUETTLIUSLEL 1D 1EIALEU WU LT HESL 1SS ~LIUSLET.

2426304
ACEG : IKMO :: QSUW : ?

I HER-TUE BT T4 HY ol TG {eR-UHE 9 I THR Safiid § S ORI SfeR-UE, TR SiaR-Tgg § Wi §

ACEG : IKMO :: QSUW : ?

YZCE
A

YZCE

YACD
B

YACD

YBCE
C

YBCE

YACE
D

YACE

Correct Ans : D

Subject : General Reasoning

(22;,"'2‘; 4%94 Select the option /number which is related to 31 number in the same way as 224 number is related to a
1%t number?
4:20:9:?
3H TEAT [AFeT H 990 H A SO T ¥ 3 TER 6T § 3w gud gEar ggenr
EU W wad §
4:20::9:?
81
A
81
20
B
20
72
o
72
99
D
99

Correct Ans : B

Subject : General Reasoning

%"\'2‘244206 Select the option /number which is related to 3" number in the same way as 24 number is related to a
[t number?
121:6:231:?

3W TEA /AdeT w1 aue FY S Sl TE ¥ 3 YeR w6 § S gud g ggerr
e & S ¥

121:6::231: 2

9

14

14
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21

21
Correct Ans : B

Subject : General Reasoning

Q.No: 41 In the given diagram, Triangle represents shoes, Circle represents leather, Rectangle represents Males.
2426575

Which number represents Male shoes are not of leather?

fow Tu e #, Py S &1 wiofAfcd Ixa1 8, 99 IHS o1 ufaiifta o3 €, Sird gl o uiafAfi owar g1

- ST qRid & R el o 7S T &

5
A

5

1
B

1

4
C

4

10
D

10

Correct Ans : C

Subject : General Reasoning

Q.No: 42 In the given diagram, The preference of some people are given. When Circle represents Action films, Square represents Horror films, Triangle represents Animated films and R
2426614

Which area represents the preference of all films?

fow g sk #, 3@ ARl 3t i T 21 99 9ikhe vaE el a1 vfffa wxar 2, o sxa fredt @1 uiafiia xan §, Rye thacs Reedl @ nfoffia wRar § R sraa sfeud fasm fir

B 1 & W el 9 adtaan o1 wiafie wvar 82
A 5
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13

13

6
Correct Ans : C

Subject : General Reasoning

Q.No: 43 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429549
MQ:0::DH:?
I facpeq T 75 &% S R U I S PR Tafld 2 SR IR U Ugd UG 9 Hafia 3
MQ:0:DH:?
E

A
E
F

B
F
G

C

D
H

Correct Ans : B

Subject : General Reasoning

Q.No: 44 If W is grand Mother of X. X is son of Y. Z is sister of Y. How Z is related to X?

2429584
iy w, X @ /A R X, Y ST RN Z, Y B a6 31 Z, X A 59 woR el 32
Sister
A
Ergt
Mother
B
AT
Aunt
c
3t
Father
D
forar

Correct Ans : C

Subject : General Reasoning

Q.No: 45 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433150 qriginally related to the sequence of that series.

ASF, D6], H7M, M8O, S9P,
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I4IciRdd YA H, IS Ul k] bl Uab [HIMd #dall ql g g, [vidH o Yep 2idedl didl g1 SliUchl 4g dd -l g [d Hui U 4 G Hdadl o SgebH o dollEd Red Ul H Gk vl i Ul deblelch Fde

ASF, D6], H7M, MBO, S9P,

z11Q
A

z11Q

z10Q
B

210Q

z11P
c

z11P

z10P
D

z1o0p

Correct Ans : D

Subject : General Reasoning

Q.No: 46 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433439

: A5 -

I4 fadhed 1 799 B St ARt SPTa F S TR Wl B o TR gl el T spfa § wela 31

“Ie | '::: )
I

%

a

)

@

N

Correct Ans : C

Subject : General Reasoning
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Q.No: 47 Complete the question figure by choosing the best alternative from the answer figure.

N
N
Nz
%
N
5
=
g
0
il

Correct Ans : A

Subject : General Reasoning

Q.No: 48 Select the option that is related to the third number in the same way as the second number is related to the first number.

2434900
52:49::72:2
T e o1 9o FY S At wen § St veR Gl § S gadt e, ved Wem 9 Wl 31
52:49::72:7?
81

A
81
67

B
67
55

c

55

ao
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98
Correct Ans : A

Subject : General Reasoning

Q.No: 49 Laxman travels 7 km towards south and then 5 km towards his left. He further travels 5 km towards south. How far is he from the starting point?
2438472

&0 SR B 3R 7 el SR R o ol 5 forrlt 3t amn R §1 9 o SfRer Y ofR 5 faedt B A wRan 31 97 omifiie fig A It wW R
13 km

13 el

9 km

9 forit
V149 km

V139 fafy
V119 km

V119 Tt

Correct Ans : A

Subject : General Reasoning

Q.No: 50 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?
2438689

A

T T U0 P SR TS Y@ W @M o, T & TS fowed spfadl # ¥ - w6l q9ur B grlte
A
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Correct Ans : B

Subject : General Reasoning

Q.No: 51 Prateek's father is Qutub's son. Manish is the paternal uncle of Prateek and Nayan is the brother of Qutub. How is Nayan related to Manish?

2439311
el & T Fga & g &1 Y welles 1 91 § SfR T9H Fgd &1 S B1 TG, B A 5y ueR Weiftd 22
Cousin
A
TR T
Brother
B
g
Nephew
C
e
Uncle
D
EIE

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440191 majn statement.

If you wear jeans, you will look taller.
A. You wore Jeans

B. You did not wear jeans

C. You looked taller

D. You did not look taller

U T Uy B T FA AR ITF 91 IR HUF & | YT BT B G T, TET Ugd FoA F1 d GER U G B, 3R < FA Al FU Y 9 FF T W B
SR 1Y S TE ot o il R

A. ST S Tt ot

B. oo ofitw 7 ue+ht B

C. g RREw® Y

D. 3T T gl a1 @ 4

AC

AC
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BA

DA
C

DA

CD
D

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440348 main statement.

The citizen are either informed or misinformed
A. The citizen are informed

B. The citizen are not informed

C. The citizen are misinformed

D. The citizen are not misinformed

fou 7T v A g7 B SR I9F TG TR FYF § FUA 1 B G G, TeT Ted HUT $1 ard TR FYA A 3, R D 9 A T F 7T wud § 9 3
ARTRET 1 1 o e foan S § a1 TTerd e < S §

A. AT B e o o §

B. RIS &1 gferd e faa smen §

C. TR Y T TSR S St §

D. AWReT o 1Tt AFBI el 8

cD
A

cD

DA
B

DA

CA
C

CA

AB
D

AB

Correct Ans : B

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440417 majn statement.

He is either from Asia or from Africa
A. He is from Asia

B. He is not from Asia

C. He is from Africa

D. He is not from Africa

U T gy H G A AR IFF 918 IR FUA § | FYA BT BT I I, T8T U5d U BT A g U 9 B, iR < Y A1 T F T FYA F WA 8
AN RAY T A ABFTEF

A TFUREIZ

B. 75 URMT ¥ e 3

C. T AWHT I §

D. T8 PP 4 T §

AB

AB
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DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning
Q.No: 55 Select the related letters from the given alternatives.
2441964

ACF:GIL:: O0QT:?

fou e fawmed! § § FEfiT aferl 9 g

ACF:GIL:: OQT:?

VXY
A

VXY

uwz
B

uwz

RSV
C

RSV

vXzZ
D

vXz

Correct Ans : B

Subject : General Reasoning

Q.No: 56 H (- - - +2(50 =
A2 33 73 Simplify: 1080-[39 - {18 +2(50 +10)}]

WA ST 1080 - [39 - {18 ~2(50 = 10)}]

1078
A

1078

1090
B

1090

1080
C

1080

-1090
D

-1090

Correct Ans : A
Subject : General Maths

Q.No: 57 ¢ w82 .52 - - -21= 2
>azs3ng Swmplify:82-[52-{50-(15-21+7x2)}]

WA BT 82-[52- {50-(15-21+7x2)}]

A 69
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69

70

70
72

72
71

71
Correct Ans : D

Subject : General Maths

Q.No: 58 Find the compound interest on Rs.21000 for one year at the rate of 32% per annum, if the interest is compounded quarterly.

2423610
21000 393 T 32% Ul 99 31 X TP I 31 Ghgla s 9 Hifo, afe sat 3R 3 71
Rs.7570.26816

A
Rs.7570.26816
Rs.6712.12890

B
Rs.6712.12890
Rs.6376.51234

c
Rs.6376.51234
Rs.3218.18901

D

Rs.3218.18901
Correct Ans : A

Subject : General Maths

Q.No: 59 Shyam borrowed a sum of Rs.18700 from a finance company to purchase a almirahs. If the rate of interest is 9% per annum compounded annually, calculate the compound in

2423625 company after 3 years.
T A TP HTAR Wi & R T B18-9 Ui § 18700 U3 ot X IR @i | Al =01 351 &% 9% Ui ¥ aiftfe Tlifor §, l 39 ahgia S 31 01 B3 off 0 Y 3 96 & 918 S Bl Y
Rs.2431.941

A
Rs.2431.941
Rs.1020.320

B
Rs.1020.320
Rs.1683.219

C
Rs.1683.219
Rs.5517.0423

D

Rs.5517.0423
Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:

2428626
{955 +5-220f15+46 x9-780f6 +[49 + 7 + 93 0f 7 - 26 x 6 + (46 x 3 - 343 of 15)]}
kA
(9552 515122 + 46 x O~ 6FI78 + [49 + 7 + 7 FT93 — 26 x 6 + (46 x 3 — 15 1 343)]}
-5698

A
-5698

B -8998
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-8998

4698
C

4698

-4698
D

-4698

Correct Ans : D

Subject : General Maths

Q.No: 61 Jay has 14 boxes of paper and divides them evenly between 4 coworkers. How many whole boxes did each coworker get?
2432575

AP U I F 14 5 § ok 98 I 99H FU Y 4 Ggoitidl & T dic 301 31 AT TeHH 3 o @Y 9 e

2
A
2
2.5
B
2.5
3
C
3
4
D
4

Correct Ans : C
Subject : General Maths

8;,";‘1;6%26 If the roots of quadratic equation are equal then find the value of k in equation 2x2+ 8x +K =0

ie fgard WUl & Oa sRIER €, dl 2x2 + 8x + K = 0 H k &I JH I BIfo1U|

8
A
B

6

7
C

7

4
D

a4

Correct Ans : A
Subject : General Maths

.No: 63 5 .
(2243‘2746 If 2m + 3n =12 and 4m? + 4mn — 3n? = 126, then what is the value of m + 2n?

Ife 2m + 3n = 12 3R 4m? + 4mn — 302 = 126 % dm+ 211WWW%I

=13

=18
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99

16

Correct Ans : D
Subject : General Maths

24%376746 If atb+c =9, a>+b2+c? = 29 and a3+b3+c3 = 99; then find the value of v3abe

TfE atbte = 9, at+b2+c2 = 29 3IR ad+bi+c3 = 99 G, dl V3abe &bl HIF JTd B |

242
A

242

6V3
B

673

6V2
(o]

6V2

5
D

5

Correct Ans : C

Subject : General Maths

Q.No: 65 The profit gain by selling a notebook for Rs. 56 is the same as the loss obtained by selling it for Rs. 42. What is the cost price of the Notebook?
2435221

T e g% B 56 39 T I9 T S A1 U1K TR 2, g 39 42 00 F 9 9 B9 1 1 F KRR B e 5 B arTd g 3 32

Rs. 40
A

40 39

Rs. 50
B

50 ¥0

Rs. 49
c

49 39

Rs. 45
D

45 30

Correct Ans : C

Subject : General Maths
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Q.No: 66 An article is sold at 20% loss. Had it been sold for Rs 40 more, the loss would have been 10% only. What is the cost price of the article?

2435241
TH T 20% THIF R I0 I 31 3 3/ 40 T & 91 S < THUH 10% B BTl a¥g T NI Hed TN Hiroig?
500
A
500
600
B
600
300
C
300
400
D
400

Correct Ans : D

Subject : General Maths

Q.No: 67 Ram loses the cost of 6 pens of selling of 144 pens. What is the percentage of loss?

2435301
144 U 59 W I 1 6 W1 & 369 e B SRreR g1 el §1 §1 e @ g2
2
A
2
6
B
6
14
c
14
4
D
4

Correct Ans : D

Subject : General Maths

(22":\‘3?46789 Martha spentg of her allowance on food and shopping. What fraction of her allowance had she left?

1T U SR TR OR 30 HT o1 2 T 11 T He 1 Tl 3f2 e Ui w2

4
3
A
4
3
5
9
B
N
9
7
3
Cc
7
3
D

W=
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1
3
Correct Ans : B

Subject : General Maths

Q.No: 69  Considered the following statements:
2437499

1. Whenq =0, then,f;' =

P
IL When g =0, then, = 0

Which statements is true:

Fafafd sy RiTaR &%
I_Gia'q=o,?ﬁ,§ =

LS q=0,%=0

HAABYTIAS:
Only I
A
P I
Only II
B
Fad 1T
Both A and B
C
rTA R B
None of these
D

7 A o
Correct Ans : A
Subject : General Maths

(2221'\‘3%57509 —:‘d of the bread is eaten by Rakesh and the rest was equally distributed among 4 children, what
part of bread did each of the children get?
R S 59 T R A Dl 4 Tl & S §aH 0 ¥ ke o), Tde e ol o8 31
foa fewmara gem
1
6
A
1
6
1
5
B
1
s
1
3
C
1
3
1
7
D
2
7

Correct Ans : A
Subject : General Maths

Q.No: 71 If in a symbolic language ‘ABSENT’ is written ‘ZYHVMG’ then ‘PRESENT’ will be written in the same language as?
2422548

g et idhfae UTST & "ABSENT' &1 'ZYHVMG' feral 9ITT <l 'PRESENT' &1 3t ST # feran s fores?
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A KLAVHGM
KIHVHGM
KIVHVMG
B
KIVHVMG
KITMHMG
C
KITMHMG
GKITYTL
D
GKITYTL

Correct Ans : B
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘COOL’ is written ‘ABBC’ and ‘BOOK’ is written ‘DBBE’ then *COOK’ will be written in the same language as?

2422578

gfe; fdt widsfas o & 'COOL Y 'ABBC' feram W1 § 3R 'BOOK’ 1 'DBBE' foRal Il ® & 'COOK' &t Ity # feram simem forei?

ABCB
A

ABCB

EABB
B

EABB

ABBD
C

ABBD

ABBE
D

ABBE

Correct Ans : D

Subject : Mental Ability

Q.No: 73 Tp 3 row of students, Chaya is 20 from left end and Aarti is 15% from right end and there are 8 students
2425596 | : : : 2
in the middle. Find the total number of students in a row.

BHE P T Ufd 7 BT I BR F 209 VM R ¢ IR (RA 2 BR W 153 WH W B 4R §19 A 8 31 §1 U@ i # fenffdl 3t ga wen 99 i

41
A

41

44
B

44

42
c

42

43
D

43

Correct Ans : D

Subject : Mental Ability

Q.No: 74 In a certain code, 3456 is coded as ROPE, 15526 is coded as APPLE, then how is 54613 coded?

2426514
TP A $IS #, 3456 BT ROPE & w0 # BT 3501 9T §, 15526 HI APPLE & =0 H Hig {1 1T 8, Al 54613 B $9 SIg fhan Smgmr?
RPPEO

A
RPPEO

B ROPEA
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ROPEA

POEAR
Cc

POEAR

PAREQ
D

PAREO

Correct Ans : C
Subject : Mental Ability

Q.No: 75 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430258 vy are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: In a recent survey, it has been stated that those who undertake physical exercises for one hour a day are less prone to have any heart ailments.
Conclusions:
1. Easy level of physical exercise is necessary for leading a good and healthy life.

II. All people who do desk of bound jobs definitely suffer from heart ailments.

Frofafad vl §, & wuT < Fssd 1, 11 31 SR &= § smue! &1 S3 W R &4 8, 43 & § smaR W 31d aat § wdid 87 a1 siue! i RE 1Y o & oft frsed § @t st 9w

BY: BT F TP T4 &, Tg a1 7T § o S v o W uw w0 & o Wi o awd €, S g 19 1 Y WuTa $H gt g
Frep:

1. 35 3R W S SiF & AT oM R &1 IR W Saws g

I1. 3% 3iftF IS Sifg o3 ard wft dr R o & g 7 & difsa 81

Only conclusion I follows

A
Paat FTrY 1 SFER I &
Only conclusion II follows
B
Fad Y IT STERY &RaT §
Either I or II follows
C
T I AT 1T SR BT §
Neither I nor II follows
D

T I IRTE I 3R S §
Correct Ans : A

Subject : Mental Ability

Q.No: 76 If PEOPLE is coded as EPPOEL, then how is TURMERIC written in that code?

2434435
If§ PEOPLE $1 EPPOEL & &0 § e famam S/l 8, df 99 $e & TURMERIC $1 59 feran s 82
RUTREMIC

A
RUTREMIC
URMRRECI

B
URMRRECI
RUMRERCI

C
RUMRERCI
UTMRRECI

D
UTMRRECI

Correct Ans : D
Subject : Mental Ability

Tn Anactinn halaw ara thraa ctatamante fallnwad hyv hwn canchicinne niimharad T and T Van hava ta tala the aiven ctatamante tn ha tria aven if thav caam ta ha at varianca fi
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Q.No: // . . . . . .
2435471 decide which of the given conclusions logically follows from the given statements.

Statements:

1. Some papers are files.

I1. Some files are data.

II1. Some data are records.

Conclusions:

I. Some data are papers.

I1. Some files are records.

Option A: Only conclusion I follows.

Option B: Only conclusion II follows.
Option C: Both conclusions I and II follows.

Option D: Neither conclusion I nor II follows.

12 few g vy F M P Rw e § o arg & P 1 90R 11 QT e §)1 st T Y Sl B w A §, ) @ S e aud @ e edta 2 8 ofk R @ o 5 o e faw o 3
P

I. % OR BEd Bl

I1. % BIEd S 8l

111 3 31T RalE g1

e

I S Sl IR 1

I1. $& BI5a RIS Bl

Only conclusion I follows.

Fad Y 1 SR Far Bl

Only conclusion II follows.

e FspY 11 SR &Rl B

Both conclusions I and II follows.

Bt Y 1 9fR 11 SRR R 7

Neither conclusion I nor II follows.

T e 1 iR T IT SR F¥e 21

Correct Ans : D

Subject : Mental Ability

Q.No: 78 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly
2435531 conclusions and then decide which of the given conclusions logically follows the given statements.

Statements:1.All cars are vehicle.2.Some cars are toys.
Conclusions:

1. Some vehicle are cars.

I1. No vehicle is cars.

III. No toys is vehicle.

IV. Some toys are cars.

Foffad vy ¥ $o FU F 916 $o ey U w71 3T MU FeAT S I A g, o € Y R wU § gia gl 3 e udid 813 &, Wit el 31 ug ok iR 9w X 5 $ @ ey fer e
B

1. o FR, TR B

2. 59 oK, @A 21

s

1. $F dI6, R 3

IL. HF a6, PR T §1

I11. B &I, are 781 81

Iv. % RN, R 2

A Only conclusion I and II follow
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DA Y I SR 1L STgRRU PR §l

Only conclusion I and 1V follow

B
P Y I 3R IV TR0 R B
Neither conclusion I nor IV follow
C
T e 1 AR TG 1V TR F B
Only conclusion II and III follow
D

Faa Ay 1T SR IIT SRR aRa 3
Correct Ans : B
Subject : Mental Ability

Q.No: 79 How many smaller pieces are obtained by making two cuts in X plane, three cuts in Y plane and two cuts in Z plane on the same cube?

2438391
WHFERXTA XA Fe, ¥ 70 fF Fe iR Z 7@ § Q| Fe M F forar B¢ gFs T B 82
12
A
12
24
B
24
36
c
36
50
D
50

Correct Ans : C
Subject : Mental Ability

%}"‘3%58504 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements
P<I>V20=T<S
Conclusions
LO>P
I.S>V

fFAfa i e &, FU=! & arg fsed G 77 g

T 97T FHoAT & HUR R TG T 7eqTe 1 A 379 3ec & T & 39Gad [aamed & 997 H
Fe:

P<I>V20=T<S

forsad:

Lo>p

IL.S>V

Neither conclusion I nor conclusion II is true

AT 1 RTE e T d

Either conclusion I or II is true

gAY 1T IIIa R

Only conclusion II is true

Faa pY 11 9T R

Only conclusion I is true

Fa e 1 9 &
Correct Ans : A
Subject : Mental Ability
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Q.No: 81 1 tpe following question, the statements are followed by conclusions. Study the conclusions based on the given

2438604
statements and select the appropriate option as your answer.
Statements:
M>RLT=5S2A;S<B;P=2B
Conclusions:
I. M<A
II. A<B
AFATITET 92 H, FUA! & alG, foIvemd U 31T §)
3T 3T Se=AT & HUR T TASHY &7 7eqTet H AT 39+ Scal & &9 & 39gad famed o1 a7 B
EaicH
M>R<T=S2A;S<B;P=B
s
I. MSA
I. A<B
If only conclusion I is true
A
Foa Y 1T ®
If only conclusion II is true
B
Faa e 1w §
If either conclusion I or conclusion II is true
C
e b B ik
If neither conclusion I nor conclusion II is true
D

a1 dRT@IITTR
Correct Ans : B
Subject : Mental Ability

Q.No: 82 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439090 haye to decide which of the given conclusions, if any follow from the given statements.

Statements:

All carrots are vegetables.

No carrot is a tomato.
Conclusions:

1. Some vegetables are tomatoes.

II. No tomato is a vegetable.

2 fRu T vy F &) By T IUF v @ ey 1T I T T 1 smuet AT T e o we AR 8, M € 9 wda adl O T welld S 6T 91 el § SR IR S (U IR A |
HY:

Tt TR wfeerat ¥

I TSR AR T B

frsm:

1. $© Ffewdi e §l

11 B AR ooft 7 B

Conclusions I follow

A

repy 1 SR B &

Conclusion II follows
B

P 11 SR PRaT §

Either conclusion I or II follows
C

a7 a FIp 1 T I1 SR e §

Both conclusions I and II follow
D

St e 1 3R 11 SR oXa &

Correct Ans : C
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Subject : Mental Ability

Q.No: 83 If ‘rain’ is ‘water’, ‘water’ is ‘road’, ‘road’ is ‘cloud’, ‘cloud’ is ‘sky’, ‘sky’ is ‘path’ path is ‘sea’, where

2439273
birds fly?

o I T B, VA ASD' B, P WA B, W AP B, HER Y F, W §, vah Fef 994l 87
Road

A
qsd
Path

B
Yy
Cloud

Cc
CIGE)
Water

D
o

Correct Ans : B

Subject : Mental Ability

Q.No: 84 Arrange the following words as per their order in the English dictionary choose the one that comes at first place.
2442723

1. Temple

2. Tenant

3. Terminate

4. Temperature

i eal 3 Teasix & 3T 1T HH & SER TYH Teg qarstl
1. Temple

2. Tenant

3. Terminate

4. Temperature

Temple

Temple

Tenant

Tenant

Terminate

Terminate

Temperature

Temperature
Correct Ans : D
Subject : Mental Ability

Q.No: 85 Arrange the following words as per order in the dictionary.
2442728

1. Manifest

2. Meticulous

3. Meridian

4. Merchant

Frafafea Tl 3 Teae | &Y 1Y w0 & sER fafdw)
1. Manifest
2. Meticulous

3. Meridian

GET IT ON

Google Play
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4. Merchant

1,4,3,2

1,4,3,2
2,1,4,3

2,1,4,3
1,3,24

1,3,2,4
2,3,41

2,3,41
Correct Ans : A
Subject : Mental Ability

Q.No: 86 Rohit can do a piece of work in 720 days. How much work can he do in 30 days?
2423690

AT TP M F 720 & H = TH 21 78 30 fot & a1 o o= wvan 2
1

24

Correct Ans : A

Subject : General Aptitude

Q.No: 87 If 17 boys earn Rs.918 in 3 days, what will 20 boys earn in 5 days?

2423711
g 17 @ 3 ol # 918 ¥08 FIR €, o 20 TsF 5 A F v HawT?
Rs.1586
A
Rs.1586
Rs.1387
B
Rs.1387
Rs.1800
c
Rs.1800
Rs.9876
D
Rs.9876

Correct Ans : C

Subject : General Aptitude
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Q.No: 88 Which of the following is divisible by 23?

2427639
Frofufea # 4 o1 23 § v 32
79632
A
79632
17906
B
17906
863268
o
863268
694623
D
694623

Correct Ans : D

Subject : General Aptitude

Q.No: 89  The sum of three consecutive number is 123.The smallest number is?

2431236 AR &9 SEeT # A 123 §1 999 B 9O 87

S
.
o %

Correct Ans : B

Subject : General Aptitude

Q.No: 90 Difference of the lengths of any two sides of a triangle is always less than

2431354
By F & yenel ) arersdl BT SR TH B AT §
A The third side of the triangle
Pryer ot diet yor &
B Bigger side of the triangle
PI T T Y A
C Lesser side of the triangle
Py ot gad S Yo ¥
Can't say
° FE T8 B

Correct Ans : A
Subject : General Aptitude

Q.No: 91  Two trains start from a certain place on two parallel tracks in the same direction. The speed of the trains are 45 km/hr and 40 km/hr respectively. The distance between the tv

2435994
3 forelt M @ ) 9uieR T R THE o § gadt 31 4 B fd FIer 45 fel./ser ol 40 o sger ), @ 45 e T1g 99 2 & ofT @1 gl e gnfe
2.5 km
A
2.5 f.
2.75 km
B
2.75 f&dl.
3.7 km
c
3.7 f.
3.75 km
D
3.75 il

Correct Ans : D

Subject : General Aptitude
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Q.No: 92 A and B started towards each other at the same time from places 123 kms apart and met in 4 hours. If A's rate was 12 km/hr, what was B's?

2436032

A SR B TP W ¥ 123 &, 31 g W § %1 06 g 31 SR Ue § wHy Fe 7 e iR 4 62 A | afe A 3t = 12 /e R, & B 9 A @ ot

18.75 km/hr
A

18.75 km/hr

18.25 km/hr
B

18.25 km/hr

16.5 km/hr
C

16.5 km/hr

16.75 km/hr
D

16.75 km/hr

Correct Ans : A

Subject : General Aptitude

Q.No: 93 Two person moving from point A to B at the same time with speed of 40 km/h and 60 km/h faster person first reach the point B and return towards A and meet the slower per
2436042 oint B. If distance between A and B is 250 km. Find the distance of meeting point from point B.

< Hfe fig A 9 B Tt SR U@ & w7 R 40 fFHi/eier 3 60 faHi/eer ot ara § 9ad 81 O Iem aran Jfd ued B fig W ugaar § ok aiftg A W Taan § 98 T # 9 Te ard afdd & frea
B < %t T aren afed IR 9o ara wfdd @ fig B 9 et gt w fdmme

50 km
A

50 et

500 km
B

500 f&eit

300 km
C

300 &t

30 km
D

30 forelt

Correct Ans : A

Subject : General Aptitude

Q.No: 94 The least number that should he added to 10000 so that it is exactly divisible by 327 is:

2436156
AT G811 o S¥ 10000 H SieT T1feT dlids g% 327 ¥ facpa favrsa a1
237
A
237
137
B
137
190
C
190
327
D
327

Correct Ans : B

Subject : General Aptitude

Q.No: 95 What is the least value of x such that 517x324 is divisible by 12?
2436203
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X Dl YAdH HiH 1 GRS 51 /X324, H$Hl 12 8 1dHIwY gl vilY?

3
A

3

1
B

1

o
C

o
D

2

Correct Ans : D

Subject : General Aptitude

Q.No: 96 The sum and LCM of two numbers are 156 and 504. Find both the numbers?

2436982

31 WA T GNT SR AU, FAN: 156 AR 504 71 I TN 10 BI0?

72,84
A

72,84

24, 27
B

24, 27

37,54
c

37,54

72,94
D

72,94

Correct Ans : A

Subject : General Aptitude

Q.No: 97 The H.C.F. and L.C.M. of two numbers are 5 and 120 respectively. If the sum of two numbers is 55, then the sum of reciprocals of the numbers is equal to:
2437916

&) WRaslt &7 7., SR 9., HHR: 5 SR 120 71 3 T W@sii &1 dv 55 @), O Yemsl & sgarl &1 A R sRiER g

11
120

55
601

601
55

601

55

120
1

120
1

Correct Ans : A

Subject : General Aptitude

Q.No: 98 Some persons can do a piece of work in 84 days. Two times the number of such persons will do half of the work in?
2444432
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Fo A ot F1f $i 84 fat & TATE R Y €, N < AT 1Y B B e A & g IR w9 B2

14 days
A

14 &

16 days
B

16 &

15 days
C

15

21 days
D

21 &

Correct Ans : D

Subject : General Aptitude

Q.No: 99 A, B & C can do a work in 10, 20 & 30 days. They all together start the work. After some days A left the work. The next after 2 days B left the work. The rest work is done by ¢
2444506 the work:

A, Ba C ol o™ 31 10, 20 3IR 30 &= & % God &1 3 Wf Ty 7MW [E @ §1 TF 7 916 A T ©IS a1 21 3 2 o 916 B oW B SaT &1 W9 o C gR1 3 AT A frar smar g1 A

1 days
A

11T

2 days
B

2T

3 days
C

3feA

4 days
D

4faT

Correct Ans : D
Subject : General Aptitude

Q.No: 100 DIRECTIONS: Complete the following series.

2444672
3,11, 19,59, 115,347, .
Pew: Pafofed yum o e
3,11, 19, 59, 115, 347, _____
1043
A
1043
691
B
691
912
c
912
721
D
721

Correct Ans : B

Subject : General Aptitude
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